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1. Accruals and prepayments
When income statement is being prepared for a specific period, it’s very important to bring into account
a) All expenses relating to that period whether they have actually been paid or not
b) All incomes and gains whether they are actually received or not
Hence adjustment must be as follows
i) Accrued expense –are outstanding expenses and have not yet been paid. Full expenses in the period must be included in the income statement
These are current liabilities to be recognized in the balance sheet
Dr. Income statement a/c with the respective expense a/c
               Cr. Accrued expense a/c
Example:
Salaries and wages paid during the year amounted Ugx 6, 000, 000. Accrued salaries and wages as at 31/12/2020 amount to Ugx 250,000. Show the entries
Income statement                                                     Balance sheet
Salaries and wages                                                     Current liabilities
Paid                        6,000,000                                     Accrued salaries and wages   250,000
Add: Accrued           250,000
Total                         6,250,000
                                              Or
Dr                                      Salaries and wages a/c                          Cr.
        Bal b/f               6,000,000           Income statement      6,250,000
                    Bal c/f                  250,000
                                                 6,250,000                                          6,250,000
ii) Prepaid expense- Are expenses which have been paid but relate to following accounting period.
Are current assets in the balance sheet?
Dr prepaid expense a/c
          Cr. Income statement a/c with respective expense
Example
The insurance paid during the year amounted to Ugx 500,000 of which Ugx 200,000 was prepaid as at 31/12. Show the entries
Income statement                                                     Balance sheet
Insurance                                                                      Current asset
Paid                        500,000                                          Prepaid insurance   300,000
Less: prepaid           200,000
Total                       300,000
                                                 Or
Dr                                      Insurance a/c                                        Cr.
Cash/bank               500,000             Income statement       300,000
                                                          Prepaid (bal c/f)         200,000
                                  
                                500,000                                               500,000                                

iii) Accrued incomes/prepaid incomes- These are incomes relating to period but have not yet been received example accrued rent income
Dr. Accrued income a/c
              Cr. Income statement a/c with respective income or gain
Example 
The rent received during the period amounted to Ugx 600,000. Accrued rent as at 31/12 was Ugx 50,000. Show the entries

Income statement                                                     Balance sheet
Rent receivable                                                              Current asset
Received                     600,000                                        Accrued rent income   50,000
Add: Accrued             50,000
Total                           650,000
                                                  Or
Dr                                      Accrued rent a/c          Cr.
Cash/bank               650,000                Cash/bank                 600,000
Accrued    (bal c/f)      50,000
                                     650,000                                           650,000


iv) Income in advance- This is income which has been already been received but relates to the following accounting period. Its current liabilities in balance sheet
Dr. Accrued income a/c
                Cr. Income statement a/c respective income/gain a/c
Example
Rent received during the year amounted to Ugx 800,000 of which Ugx 80,000 was received in advance as at 31/12. Show entries.
Income statement                                                     Balance sheet
Rent receivable                                                              Current liabilities
Cash/bank                     800,000                             Rent income in advance   80,000
Less: Rent in advance    80,000
Total                           720,000
                                                           Or
Dr                                      Rent received in advance a/c          Cr.
Income statement                      720,000                Cash/bank                 800,000
Income in advance    (bal c/f)     80,000
                                                   800,000                                                  800,000





2. Irrecoverable debts and allowances for receivables)
Debts due from debtors are shown as current asset in the statement of financial position. Most business will sell on credit to customers and define time within which they must pay (credit period). Its very good to maintain an aged receivables analysis to keep track of outstanding debts and make follow up. Most business give credit limit for each customer. Accruals concept dictates that when a sale is made, its recognized in the accounts regardless of whether or not cash has been received
If a sale is cash, customers pay for the good/service immediately the sale is made. If sale is on credit, then customer will be given an invoice 
For cash sale
Dr. Cash a/c
      Cr. Sales revenue a/c
Credit sale
Dr. Receivable’s a/c/debtors
                Cr. Sales revenue a/c
When the customers settles the invoice
Dr. Cash a/c
               Cr. Receivable/debtor

Accounting for irrecoverable debt
These are uncollectible debts
     Dr. irrecoverable debt expense/bad debt written off a/c
                   Cr. Receivables/debtor a/c
At end of year
     Dr. Income statement a/c
                   Cr. Bad debt written off a/c
Example
As at 31/12/2022, owing from Lovince was written off as bad debt. Show the entries in the ledgers

Dr                                      Lovince (debtor)  a/c                             Cr.
              B/f                  200,000                                   Bad debt written off    200,000
                                      200,000                                                                     200,000


Dr                                      Bad debt written off a/c          Cr.
B/f                                            200,000                Income statement               200,000
                                                   200,000                                                             200,000


Provision for doubtful debts(bad debts)
Bad debts – These are dues from debtor shown as current assets in balance sheet. When it becomes irrecoverable, the it’s written off as bad debt. A bad debt is a loss to the business
Dr. 	Bad debts written off a/c
              Cr. Debtors a/c
At end of the year
Dr. Income statement
            Cr. Bad debts written off
Provision for doubtful debts
i) On creation
Dr. Bad & doubtful debt expense a/c
         Cr. Provision for bad debts a/c
ii) To increase
Dr. Income statement (with increase)
         Cr. Provision for bad debts a/c
iii) To decrease
Dr. Provision for bad debts a/c
              Cr. Income statement (with the decrease)
Example
A business at end of its financial period 31/12/2021, sowed a balance of total debtors of Ugx 600,000. This amount includes bad debts written off of Ugx 20,000. It was decided to provide 5% for bad and thoughtful debtors. Show the effect in the statements.
                                                                        Ugx
Debtors b/f                                                         600,000
Less: Bad debts written off                                 20,000
                                                                           580,000
Less: Provision for bad debts (5%*580,000)      29,000
               Balance c/f                                           551,000
Assignment: Identity the totals to recognize in income assignment and balance sheet
Read more about bad recovered

3. DEPRECIATION
IAS 16: Property, Plant and Equipment define Depreciation is the systematic allocation of the depreciable amount of an asset over its useful life or as the measure of the cost or revalued amount of the economic benefits of the tangible non-current asset that has been consumed during the period. In simple terms, depreciation is a mechanism to reflect the cost of using a non-current asset. Depreciation matches the cost of using a non-current asset to revenues generated by that asset over its useful life. This is achieved by recording a depreciation charge each year, the effect of which is twofold (the dual effect):
- reduce the statement of financial position value of non-current asset by cumulative depreciation to reflect the wearing out
- record the depreciation charge as an expense in the income statement to match to the revenue generated by the non-current asset
Reasons for Providing For Depreciation
Once a decision is made to depreciate an asset, the amount of depreciation written off is transferred to the profit and loss account as operating expenses for the period.  Depreciation is debited to the income statement for the period thus reducing current profits otherwise profit will be overstated. Specifically;
· Depreciation is a cost that has to reduce profits. If depreciation is not provided for, income will be overstated and tax liability is also overstated. Therefore, since fixed assets are used to generate revenue it follows that the part of the cost of the asset used in earning that revenue should be charged to the profit and loss account so as to get a realistic figure of net profit.
· To portray a true and fair view of the state of affairs of a business by subtracting the accumulated depreciation from the cost of the asset. This enables disclosure of book values in the Statement of Financial Position to be fairly accurate.
· It guides policy for planning maintenance and replacement of the asset
· It ensures that revenue recognized during a particular accounting period bear the full cost of the permanent resources used up during the same period.
· It provides a meaningful base of valuation and disclosure of non-current assets in financial statements.
· It ensures that provision is made for the loss sustained by non-current assets.
Depreciation may arise from:
· Use
· Physically wear and tear
· Passing of time, e.g. a ten-year lease on a property
· Obsolescence through technology and market changes, e.g. plant and machinery of a specialized nature
· Depletion, e.g. the extraction of a mineral from a quarry
The purpose of depreciation is not to show the asset at its current value in the statement of financial position, nor is it intended to provide a fund for the replacement of the asset. It is simply a method of allocating the cost of the asset over the periods estimated to benefit from its use (Useful life). Land has an unlimited life and so does not require depreciation, but buildings should be depreciated. Depreciation of asset begins when it is available for use.
Key terms in depreciation
· The depreciable amount is the cost of an asset, less its residual value. Depreciation is based on the carrying amount of the asset.
· The residual value of an asset is the estimated amount that an entity would obtain from the disposal of the asset after deducting the estimated costs of disposal
· Useful economic life
Terms:
Revenue expenditures are short-term business expenses usually used immediately or within one year. They include all the expenses that are required to meet the current operational costs of the business, making them essentially the same as operating expenses (OPEX). Tracking revenue expenditure allows a business to link earned revenue with the business operations expenses incurred during the same accounting year.
Capital expenditures are funds that a company uses to acquire, improve, or maintain physical assets (land, property, equipment software) or intangible assets (patents or licenses). Capital expenditure is generally used to improve the company's capacity or efficiency.
Assignment. In your groups give examples of both revenue and capital expenditures
Methods of Computing Depreciation
There are various methods of calculating depreciation and the method employed may vary from one asset to another. The depreciation method chosen by management depends on the company’s policy and its relevancy to the asset in question.
When a method is selected for a particular asset, it should be used consistently and similar items should be treated using a similar method i.e. in accordance with the consistency concept (as already seen). Changing methods is discouraged as it creates distortions in financial reporting, nevertheless where change is justifiable, the effect of the change on the reported net profit and Statement of Financial Position must be disclosed as earlier discussed.
The following methods may be used for computing depreciation:
· Straight-line method (SLM)/Fixed installments method.
· Reducing balance method (Diminishing balance method)
· Sum of years’ digits method
· Units of output method
· Hourly rate method
· Revaluation method
Straight Line Method (SLM)
This is otherwise called fixed installments method or fixed percentage method. It is the simplest and most widely used method. It is based on the simple average principle. i.e. it involves dividing the total cost by an estimate of how many years we think the asset will remain usable and apply the result year in year out. We also need to estimate any residual or salvage value that we can reclaim at the end of the asset’s working useful life. This method is especially good for assets that are used uniformly from year to year. However it is not realistic by assuming constant depreciation over the lifetime of an asset. It is given as:
Depreciation charge = (Cost – Residual Value)/Useful life.           Or     (X% x cost.)
Residual value. This is the net amount, which the enterprise is expected to obtain from an asset at the end of its useful life after deducting the expected costs of disposal. It is otherwise called the scrap value or the salvage value or second hand value. It is the estimated disposal value of the asset at the end of its useful life.
Useful life. This is either the period over which a depreciable asset is expected to be used by the enterprise, or the number of production or similar units expected to be obtained from the use of the asset by the enterprise. It is also called the life span of the asset. Simply put, it is the estimated number of years during which the business will use the asset. The useful life of a non-current asset does not necessarily equal the physical life of the asset. For example, many businesses use a three-year useful life for computers. This does not mean that a computer can no longer be used after three years; it means that the business is likely to replace the computer after three years due to technological advancement.
Straight-line depreciation is often expressed as a percentage of the original cost, so that straight-line depreciation over four years would alternatively be described as straight-line depreciation at 25% pa.
For example, it is 1/1/99 and we have just bought a new asset for Ux.100, 000 that we estimate will have a useful life of 5 years; and that we think we will be able to dispose of for Ugx.20, 000.
Required:
a) Calculate the annual depreciation provision for the asset.
b) Show the depreciation schedule for this asset.
Solution
Depreciation per annum (p.a) = ( Cost – Scrap value)/ Number of years of useful li
                                             = (100,000 – 20,000)/5       
                                                 = 16,000 per year
   Depreciation Schedule
	YEAR
	Depreciation expense
	Accumulated Depreciation
	Net Book Value

	1
	16,000
	16,000
	84,000

	2
	16,000
	32,000
	68,000

	3
	16,000
	48,000
	52,000

	4
	16,000
	64,000
	36,000

	5
	16,000
	80,000
	20,000


Example
Mrs Okello bought a Van at cost of 200million in 1/1/2021. By end of the end the Van had lost by value by 5%. What is the NBV of the van at year end?
Depn cost            = cost of Van * rate
                            200, 000,00 x5%
                             =10,000,000
NBV                   = COST-Depn cost
                             200,000,000-10,000,000
                         =190,000,000
Dr. Income statement (depn expense) a/c            10,000,000
                      Cr. Accumulated depn expense a/c      10,000,000

Balance sheet
Asset                Cost                   Acc.depn                   NBV
Van                  200,000,000        10,000,000             190,000,000

Advantages of the straight line method
Depreciation charged by the straight line method, has the following advantages:
(a) The depreciation expense charge is spread evenly over the useful life of the non-current asset.
(b) It is simple to calculate and apply since a fixed amount is written off each year.
(c) It is an equitable charge to each accounting period thus the benefit derived is uniformly spread over the accounting years of usage.
Disadvantages of the straight lime method
(a) It is difficult to apply where there are constant changes in the non-current assets’ group due to purchase and sales arising.
(b) It necessitate the maintenance of a non- current  assets register to identify original cost for each separate asset, in order to determine the depreciation amount to be charged annually
(c) Inequitable to charge in each period the same amount where benefits derived are not equal.
(d) Each separate asset purchased must have its residual or final disposal value and the useful life must be determined so that the depreciation charge can be calculated correctly.
(e) Where repairs and service charges increase with age of use, the revenue costs for use of the asset in the form of depreciation plus repairs, keep increasing, while the benefit or productivity may be static or declining.
Reducing Balance Method
This is otherwise called diminishing or declining balance method. Under this method, more depreciation is allocated to the earlier years than to later years of the asset i.e. depreciation charge or allocation reduces as the asset gets older. This method is suitable for assets that are more useful in earlier years than in later years like automobiles. Under this method depreciation charge is on the book value at the beginning of the year and not the original cost. I.e.
Depreciation Charge = (X% x Net book Value (NBV)
                                        (Cost-acc.depn) rate
NBV is the original cost of the non-current asset less accumulated depreciation on the asset to date.
For assets bought/sold in the period, there are two ways in which the depreciation could be accounted for: Provide a full year’s depreciation in the year of acquisition and none in the year of disposal or, provide monthly or pro-rata depreciation, based on the exact number of months that the asset has been owned
Example
Mrs Okello bought a Van at cost of 200million in 1/1/2021 for his business. By end of the end of 2021, the Van had lost by value of 10,000,000. It’s his policy to depreciate assets at 5% on reducing balance What is the NBV of the van at year end of 2022
Depn cost            = cost of Van * rate
                            200, 000,00 x5%
                             =10,000,000
NBV                   = COST- acc. Depn cost
                             200,000,000-10,000,000+10,000,000
                         =180,000,000
Dr. Income statement (depn expense) a/c            10,000,000
                      Cr. Accumulated depn expense a/c      10,000,000

Balance sheet
Asset                Cost                   Acc.depn                   NBV
Van                  200,000,000        20,000,000             120,000,000



Capital expenditure and revenue expenditure – business expenditure may be divided into capital expenditure and revenue expenditure:
Capital expenditure is expenditure which results in the acquisition of non-current assets or an improvement in their earning capacity. Such expenditure results in recognition of non-current assets in the statement of financial position. For example, an extension to a building is capital expenditure
· Capital expenditure is expenditure which results in the acquisition of non-current assets, or an improvement in their earning capacity.
· Capital expenditure is not charged as an expense in the income statement, although a depreciation charge will usually be made to write off the capital expenditure gradually over time. Depreciation charges are expenses in the income statement.
· Capital expenditure on non-current assets results in the appearance of a non-current asset in the statement of financial position of the business.
Revenue expenditure is expenditure incurred to operate the business or to maintain the earning capacity of non-current assets. Such expenditure is included in the statement of profit or loss (income statement). For example, repair of a car is revenue expenditure
· The following revenue costs should never be capitalized, but recognized as expenses:
· Administration and general overheads
· Abnormal costs e.g. of spoilt materials, labour costs during stoppage time
· Costs incurred in the initial operating period e.g. before the machine is used at its full capacity.
· Costs of opening a new facility
· Training costs – as there is no control over workers as they can leave anytime or even die.
· Costs incurred after the asset is physically ready for use
Format of the statement of profit or loss
Yannica ltd statement of profit or loss for the year ended 31st December 2013
	DEATAILS
	Shs
	Shs
	Shs

	Sales Revenue/incomes
	
	xx
	

	Less: Return inwards/sales returns
	
	xx
	

	Net sales
	
	
	xx

	Less: cost of sales
	
	
	

	 Opening inventory
	
	xx
	

	Add: Purchases
Less: Returns outwards
Net purchases
	Xx
X
Xx
	
	

	Add: carriage inwards
	Xx
	
	

	Total  purchases
	xx
	xx
	

	Cost of Goods Available for sale
	
	xx
	

	Less: Closing inventory
	
	(xx)
	

	Cost of Sales
	
	
	(xx)

	Gross Profit/Loss
	
	
	Xx/(Xx)

	Add: Other incomes
	
	
	

	Discount received
	
	
	xx

	Reduction in provision for bad debts, bad debts recovered etc
	
	
	xx

	Total/Gross Income
	
	
	xx

	Less: Operating Expenses
	
	
	

	Depreciation
	
	Xx
	

	Increase in allowance for bad debts
	
	Xx
	

	Courage outwards
	
	Xx
	

	Loan interest
	
	xx
	

	Discount allowed
	
	xx
	

	Salaries & wages
	
	xx
	

	Bad debts etc.
	
	xx
	(xx)

	Net profit for the year
	
	
	xx


Format of the balance sheet
Yannica Ltd Statement of Financial Position as At 30 June 2014
	Assets
	COST
	ACC.DEPN
	NBV

	Non-current assets
	Shs
	Shs
	Shs

	Land
	Xx
	Nil
	Xx

	Computers
	Xx
	Xx
	Xx

	Plant & equipment etc.
	Xx
	Xx
	Xx

	Intangible assets
	
	
	Xx

	Biological assets
	
	
	Xx

	Investments in associates
	
	
	Xx

	Financial assets
	
	
	Xx

	
	Xx
	Xx
	Xx

	Current assets
	
	
	

	Closing inventory
	
	Xx
	

	Trade and other Receivables
	Xx
	
	

	Less: provision for bad debts
	(xx)
	Xx
	

	Prepaid rent
	
	Xx
	

	Cash and cash equivalents
	
	Xx
	

	Total assets
	
	
	Xx

	Equity & liabilities
	
	
	

	Equity
	
	
	

	Ordinary share capital
	
	Xx
	

	Share Premium
	
	Xx
	

	Revaluation Reserves
	
	Xx
	

	Other equity Reserves
	
	Xx
	

	Retained Earnings/profit/loss for the year
	
	Xx/(Xx)
	

	Total equity
	
	Xx
	

	Drawings
	
	(xx)
	

	Total equity
	
	
	Xx

	Non-current liabilities
	
	

	Long term loan (Borrowings)
	
	
	Xx

	Current liabilities
	
	
	

	Creditors and other payables
	
	Xx
	

	Accrued expenses
	
	Xx
	

	Bank overdraft/short term loan
	
	Xx
	

	Dividends payable
	
	Xx
	xx

	Total Equity & Liabilities
	
	
	Xx



Question one:
The following are transactions extracted from the books of Mukullo enterprise located at Kikuubo, a Kamapala suburb as at 31 December, 2018
                                                                 Ushs.‘000’
Stock as at June 01, 2018                             8,000
Sales                                                         100,000
Purchases                                                   52,000
Capital                                                     120,000
Carriage inwards                                            420
Wages and salaries                                      3,000
Rent and rates                                             3,000
Airtime expense                                             620
Buildings at cost                                       18,000
Accumulated depreciation-Building          1,200
Debtors                                                     23,500
Creditors                                                    2,800
Cash at hand and bank                           107,960
Drawings                                                    1,500
Good will                                                 19,000
2year Bank loan                                        5,000
Additional information
i) Stock as at June 30, 2018 was Ugx.3,000,000
ii) There was accrued salaries and wages of Ugx.200,000
iii) It is the company policy to depreciate fixed assets at 2% per annum on reducing balance method
    Required:  
i) Prepare journal entries for adjustments (i-iii). Ignore narration.                  (3Marks)                  
ii) Prepare the statement of profit or loss for the year ended 31/12/2018        (5Marks)                                                                                                                                                                                                                                          
iii) Prepare the statement of financial position as at 31/12/2018                       (6 Marks)      
                                                                                                                                 Total=20Marks                  
Question two:
The following is Mande Enterprises Ltd.’s Trial Balance for the period ending on 31/12/2013
	Details
	Debit (Shs 000)
	Credit (Shs 000)

	Share Capital
Sales
Opening inventory
Plant and machinery at cost
Motor vehicle at cost
Provision for depreciation on motor vehicles
Provision for depreciation on plant & Machinery
Purchases
Sales returns
Purchases returns
Wages and salaries
Sales discount/discount allowed
Purchases discount/discount received
Commission received
Carriage outwards
Carriage inwards
Water and electricity
Bad debts written off
Provision for bad debts
General expenses
Rent and rates
Debtors / Accounts Receivables
Creditors /Accounts payables
Cash in hand
Cash at bank
Drawings
Long term bank loan
	

250
2,500
800


3,600
400

600
50


105
25
86
15

85
150
550

60
240
60
	2,500
6,000



160
200


200


35
5




10



66



400

	Total
	9,576
	9,576



The following additional information was available
a) Closing inventory on 31st December 2013 was valued at Shs 255,000
b) Depreciation was charged at 10% P.a at cost on Plant & Machinery and 12.5% P.a for Motor vehicles using Reducing Balance Method (on NBV)
c) Accrued rent was Shs 30,000 and prepaid electricity was Shs 10,000
d) Provision for bad debts is to be increased by Shs 3,000/=
Required: You are required to prepare Mande Enterprises Limited Finance Statements as at 31/12/2013
Question three
a) The following is a trial balance extract of Hermella Leisure Centre for the year ended 31/12/2018.
	
	Debit (Ushs)
	Credit (Ushs)

	Purchases of food & drinks
	10,000,000
	

	Share Capital
	
	129,600,000

	Furniture at cost
	5,000,000
	

	Buildings at cost
	90,000,000
	

	Machinery at cost
	20,000,000
	

	Other expenses
	5,000,000
	

	Stationery
	2,000,000
	

	Utilities
	8,000,000
	

	Salaries and wages
	12,000,000
	

	Accommodation fees
	
	96,200,000

	Sales from foods & drinks
	
	10,000,000

	Bank balance
	22,000,000
	

	Cash at hand
	60,000,00
	

	Debtors
	3,000,000
	

	Creditors
	
	1,200,000

	Total
	237,000,000
	237,000,000


Additional information:
1. Inventory as 31/12/2018 Ushs.2,000,000
2. Utilities amounting to Ushs. 2,000,000 are meant for the forthcoming year.
3. Salaries and wages of Ushs.3, 000, 000 remained outstanding at the end of the year.
4. Accommodation fee amounting to Ushs. 15,000,000 were received in advance from clients
5. Depreciation on non-current assets of 10% is to be provided on straight line basis
Required:
i. Show the journal entries for all the above adjustments (1-5).Ignore narration.
ii. Prepare statement of profit or loss for the year end 31/12/2018
iii. Prepare the statement of financial position as at 31/12/2018
a) Hermella  Leisure Centre journal
	
	Particulars
	Dr. Ugx
	Cr. Ugx

	
	Closing inventory a/c
P &  L a/c
	2,000,000√
	2,000,000√

	I
	Prepaid utilities
P & L a/c
	2,000,000√
	
2,000,000√

	Ii
	P & L a/c
Accrued salaries
	3,000,000√
	
300,000√

	Iii
	P  & L a/c
Incomes received in advance a/c
	15,000,000√
	
15,000,000√

	iv
	Depreciation a/c-furniture
Acc. Depn a/c-furniture
Depreciation a/c-building
Acc. Depn a/c-building
Depreciation a/c-Machinery
Acc. Depn a/c-Machinery


	500,000√

9,000√

2,000,000√
	
500,000√

9,000√

2,000,000√

	
	
	1,260,000
	1,260,000



b) Hermella Leisure Centre Statement of profit or loss for the year ended 31/12/2018√
	c) 
	Ugx
	Ugx

	Incomes:
	
	

	Accommodation fees (96,200,000-15,000,000)
	81,200,000√
	

	Cash from foods and drinks
	10,000,000√
	91,200,000

	Less: Cost of sales
	
	

	Add: Purchases of food & drinks
	10,000,000
	

	Less: Closing stock
	(2,000,000)
	8,000,000

	Gross profit
	
	83,200,000

	Less: Expenses
	
	

	Depreciation –Furniture(5,000,000x0.10)
-Machinery(20,000,000x0.10)
-Building (90,000,000x0.10)

	500,000
2,000,000
9,000,000
	

	Utilities (8,000,000-2,000,000)
	6,000,000
	

	Salaries & wages (12,000,000+3,000,000)
	15,000,000
	

	Other expenses
	5,000,000
	

	Stationery
	2,000,000
	39,500,000

	Net profit
	
	43, 700,000



ii)  Hermella Leisure Centre statement of financial position as at 31/12/2018
	ASSETS
	Cost(Ugx)
	Acc.depn(Ugx)
	NBV(Ugx)

	Tangible-Non-current assets
	
	
	

	Furniture
	5,000,000
	500,000
	4,500,000

	Building
	90,000,000
	9,000,000
	81,000,000

	Machinery
	20,000,000
	2,000,000
	18,000,000

	
	
	
	103,500,000

	Current assets
	
	
	

	Cash at hand
	60,000,00
	
	

	Bank
	22,000,000
	
	

	Debtors
	3,000,000
	
	

	Prepaid utilities
	2,000,000
	
	

	Closing inventory
	2,000,000
	
	89,000,000

	TOTAL ASSETS
	
	
	192,500,000

	EQUITY AND LIABILITIES
	
	
	

	EQUITY
	
	
	

	Capital
	129,600,000
	
	

	Profit for the year
	43,700,000
	
	173,300,000

	LIABILITIES
	
	
	

	Current liabilities
	
	
	

	Accommodation fee in advance
	15,000,000
	
	

	Creditor
	1,200,000
	
	

	Accrued salaries & wages
	3,000,000
	
	19,200,000

	TOTAL EQUITY & LIABILITIES
	
	
	192,500,000



